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{

return x+y; —

}
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int sum

/

add (25, 47);

K
int add(int X, int y)
{

return x+y;
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public class Sum {
static int sum(int a, int b) {
return a+b;
}
public static void main(String[] args) {

int a = sum(1, 3);

System.out.println(a);
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public class Math ({
int add(int x,

return x + y;

int y) {

}

public class MathTest {

public static void main (String[]
int sum;
Math obj = new Math ()
sum = obj.add (2, 3);
System.out.println ("22} 39
sum = obj.add (7, 8);

System.out.println ("72} 89
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" + sum);

" + sum);
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O 2HH(Object)= AEHQ} =
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SXH 710): 2
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color: “red”
gear: 7
speed : 80km/h

oA =

changeGear() { -+ }

speedUp() { - }
speedDown() { --- }
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Television.java e o
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01 public class Television {

02 (int channel; // AL '.='_1§\

03 int volume; /] =25

04 boolean onOff; /] T AEf
k J

05 }



TelevisionTest.java

01 public class TelevisionTest {

02 public static void main(String[] args) { WHT FIRSETE

03 Television tv = new Television();

04 tv.channel = 7;

05 tv.volume = 9; /‘\__— M| Bie{of A2EL T
BieH ARERH(. )T AHESETE.

06 tv.onOff = true;

07 System.out.println("&H[Xe] {ES " + tv.channel + "0|Z =& "

08 + tv.volume + "QL|Ct.");

09 }

10 }
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tv.channel = 7;

) S channelO(2ts HEof 72 '




Television.java

01 public class Television {

02 int channel; // A2 HS
03 int volume; /] ==

04 boolean onOff; /] TE AE
05 }

TelevisionTest.java

01 public class TelevisionTest {

02 public static void main(String[] args) {
[ 03 Television myTv = new Television();
04 myTv.channel = 7; \
05 myTv.volume = 10; myTvet yourTvE EIH2
06 myTv.onOff = true; HHE TRE

07 r



08 Television yourTv = new Television();(-/

09 yourTv.channel = 9;

10 yourTv.volume = 12;

11 yourTv.onOff = true;

12 System.out.println("Lte EH|™e| HES " + myTv.channel +
13 "0l E§2 " + myTv.volume + "QL|Ct.");

14 System.out.println("HQ| &jdH|™e| LS " + yourTv.channel +
15 "ol B2 " + yourTv.volume + "QILIC}.");

16 }

17 }
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public class Television {

int channel;

// ME #H=

int volume; //
boolean onOff; /7 Tdal SEf
void print () {
System.out.println ( ("X " + channel +

"O|l1 &&= " + volume + "YLILF.m)




public class TelevisionTest {

public static void main(String/[]

Television myTv

args) {

= new Television();

myTv.channel = 7;
myTv.volume = 9;
myTv.onOff = true;
myTv.print () ;
Television yourTv = new Television();
yourTv.channel = 9;
yourTv.volume 12;
yourTv.onOff = true;
yourTv.print () ;
}

}

AME2 70|01 =52 10L|CF

22 90[1 =&F2 12 LLF




myTv,print() @htel &3}
I myTv 22l print()
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BLHHE myTvprint() @Rteg
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channel

volume
onOff
print() {

my Tv print() !

}




public class Television {
int channel; // XjE BH=
int volume; // 2&
boolean onOff; // & 2FEf

void print () {
System.out.println("XH%% " + channel +
"0l ZSEF2 " + volume + "®LICE.m);

}
int getChannel () {
return channel;




public class TelevisionTest ({

public static void main (String[] args) f{
Television myTv = new Television();
myTv.channel = 7;
myTv.volume = 9;
myTv.onOff = true;
int ch = myTv.getChannel () ;
System.out.println ("SI Xl
+ "YLEE ) ;

|l

2 " + ch
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channel

volume

onOff
void print() {

;
int getChannel() {




public class Television {
int channel; // XNE
int volume; // =&
boolean onOff; // & 2FEf
void print () {
System.out.println("IH%% " 4+ channel + "O|1

in
£
[t

" + volume + "QL|C}.m);

}
int getChannel () {
return channel;

}
void setChannel (int ch) {

channel = ch;




public class TelevisionTest {

public static void main(String/[]

args) {

Television myTv = new Television() ;

myTv.setChannel (11) ;
int ch = myTv.getChannel ()

System.out.println ("X |
"QLICE ")

:
22 " + ch +
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/\ channel

mvTo volume

onOff
void print() {

/
int getChannel() {

Lem =TT ;

,l

myTv.setChannel(11 )’
“--__

void setChannel(int ch) {

;




public class Math {
int add(int x, int y) {

return x + y;

}

d

public class MathTest {

public static void main (String[] args) {

int sum;

Math obj = new Math ()

sum = obj.add (2, 3);
System.out.println ("22} 39
sum = obj.add (7, 8);
System.out.println ("72} 89

=L O
%I': " + sum);
=L O
St2 v 4+ sum) ;
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go_to_store() !
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